Copyrighl FCI.

REFERENCE SPECIFICATIONS
-NFC 93425 (in compliance with HE 501)

PHYSICAL CHARACTERISTICS
- INSULATOR MATERIAL: THERMOPLASTIC UL94V0

BRASS,
GOLD OVER NICKEL

-CONTACT MATERIAL:

-ACCESSORIES: STEEL FOR METAL BRACKETS,

cadmium plated yellow passivation

THERMOPLASTIC UL94VO0

BRASS FOR OTHERS ACCESSORIES,
cadmium plated yellow passivation

-SHELLS: STEEL,

cadmium plated yellow passivation

ELECTRICAL CHARACTERISTICS

-NOMINAL CURRENT: 7.5A
-CONTACT RESISTANCE:  <z7.3 m Ohms
-CONTACT/CONTACT >=1000 V
-CONTACT/GROUND : >=1200 V

- INSULATION RESISTANCE: >=5000 MOhms

ENVIRONMENTAL CHARACTERISTICS
- CLIMATIC CATEGORY

55/125/56

TEMPERATURE RANGE -55°C TO +125°C
DAMP HEAT STEADY STATE 56 DAYS
SALT SPRAY 48 HOURS

MECHANICAL CHARACTERISTICS
RETENTION AGAINST TORQUE:

-Threaded insert:0.7 N.m min

-Female screw:0.5 N.m min

FOR PLASTIC BRACKETS

P —

Series

Shell EABC D

sheet 3)

size:
(see

Front accessory definition

DBIVIL25P500IV

(see sheet 2)

Blank :without accessory

L cthreaded insert M3

0 threaded insert UNC 4-40

' cfemale screw UNC 4-40
Layout of contacts (see sheet 3) <
9,15,25,37,50
Contacts

P Pin
Termination type

5 Right angle/Europe standard

Plating

00 Right angle 500 matings/unmatings
43 Right angle 500 matings/unmatings
for harsh environment

PCB accessories sheet 2)

definition(see

Blank ‘Plastic brackets
c ‘Without brackets
M ‘Metal brackets

25 WAY for Example

surface tolerance std fprojection
www. fciconnect.com 150 1302 150 406 IS0 1101 @E mm
TOLERANCES UNLESS OTHERWISE SPECIFIED —
Dr | M PESSON 2006/11/14 0.X +0.3 size Scale
e m:::‘m £ns [P LEGARE 2006711714 | "M Linear [ o +0.1 A2 201
. “Fene [P LEGARE 2006/11/14 Jo [£7 0. XXX £0.05 ECN LS08-0119
e ey [P LEGARE | 2006711714 [Produel ToniTy 3 YT
. . . o ° Rev
- SUB MALE DM HES501 series o COI-8637-1740
[~ with right angle contact o — C
catalog no - CUSTOMER fsheet 1 of 9

6 I J I

8

PDM:PR&\RL:C

sTaTUsRETBaI8elehsedprinted?jufed 7, 220188, 2015




Copyrighl FCI.

I | 2 | 3 | [ | 5 | 6 | 1 | 8
3 3
= = A
Q) |
% % %
[ — [ E— [ E— \
T T T
f =) N 1 I \?\\ \ ‘ \ B
| | | : |
23.10 4101 e ¥ B310 01 —
FRONT ACCESSORY L insert M3 V female screw UNC 440 Blank Without L insert M3 V female screw UNC 4.40
Blank Wi thout O insert UNC 4.40 0 insert UNC 4.40
PCB ACCESSORIES C  Without C  Without C Without M Wetal bracket M Metal bracket M Metal bracket ¢
[ — [ — [ —
g s s 0
‘= = ; I
g g ? i g = !
QS\UiU\ } £
‘ L insert M3
FRONT ACCESSORY Blank Without O insert UNC 4 40 V female screw UNC 4.40
PCB ACCESSORIES Blank Plastic brocket Blank Plostic bracket Blank Plostic bracket
surface - tolerance std fprojection mm
ci t. 150 1302 150 406 1SO 1101
" creennec o TOLERANCES UNLESS OTHERWISE SPECIFIED @E W —
br [N PESSON 12006711714 v B ] T0 |size Scale
Eng | P LEGARE 2006711714 [P A Linear o 0.1 A2 2:1 F
Chr | P LEGARE 2006/11/14 a'\iz' 0.XXX +0.05 ECN LS08-0119
appr| P LEGARE 12006711714 [Product Tamily 3 R
© SUB  MALE DM HES501 series | Rex
. - o CO1-8637-1740
SCALE: 4 @ [~ with right angle contact S — C
— catalog no - CUSTOMER fsheet 2 of 9
! | 2 | 3 | : | 5 | 6 | | 8

PDM:FR&R:C  sTtaTusRETEaI8eehsedprinted’joked 7, 220188, 2015



Copyrighl FCI.

2 | 3 | 6 | 1 | 8
PART  NUMBER AEE?\;TSORY ACE:CEBSSORY COH*GC;Xﬂumber PART ~ NUMBER AEE(;NSTSORY ACEEBSSORY
D*MxxP500C without without DxMxxP543C without without
D*MLxxP500C insert M3 without 09 D*MLxxP543C insert M3 without
D*MOx xP500C insert UNC 4.40 without ) DxMOx xP543C inseri UNC 4.40 without
D*MVxxP500C female screw UNC 4.40 without 25 D*MVxxP543C female screw UNC 4.40 without
D*MxxP500M without Metal bracket DxMxxP543M without Metal bracket
D*MLxxP500M insert M3 Metal bracket 37 D*MLxxP543M insert M3 Metal bracket
D*MOx xP500M insert UNC 4.40 Metal bracket 50 D*MOxxP543M insert UNC 4.40 Metal bracket
D*MVxxP500M female screw UNC 4.40 Metal bracket D*MVxxP543M female screw UNC 4.40 Metal bracket
D*MxxP500 without Plastic bracket D*MxxP543 without Plastic bracket
D*MLxxP500 insert M3 Plastic bracket D*MLxxP543 insert M3 Plastic bracket
D*MOxxP500 insert UNC 4.40 Plastic bracket DxMOxxP543 insert UNC 4.40 Plastic bracket
D*MVxxP500 female screw UNC 4.40 Plastic bracket DxMVxxP543 female screw UNC 4.40 Plastic bracket
CROSS REFERENCES HES0! and FCI
HESO1 P/N FCI7P/N AE@%NSTSORY ACCESSORY
HESOIPxxVP6 DxMxxP500 without Plastic bracket
HE50 IMxxVP6 D*Mx xP500M without Metal bravket

surface - tolerance std fprojection
www.fciconnect.com 150 1302 150 406 1SO 1101 @’E mm
TOLERANCES UNLESS OTHERWISE SPECITIED —
Dr | M PESSON 2006/11/14 NGULAR 0.X +0.3 size Scale
Eng [P LEGARE 2006/11/14 LINEAR [ o.xx *0.1 A2 2:1
Chr | P LEGARE 2006/ 11/14 fo [+ 0. XXX +0.05 ECN LS08-0119
Appr| P_LEGARE 2006/ 11714 JProduct family -JSpec ref
© ° Rev
'g; SUB MALE DM HESOI series |° cqj.g37.1740
[~ _with right angle contact o — C
catalog no CUSTOMER fsheet 3 07 9

6

8

PDM:PR&\RL:C

sTaTUsRETBaI8elehsedprinted?jufed 7, 220188, 2015




Copyrighl FCI.

I | 2 | 3 | 5 | 6 | 1 | 8
DIMENSION FOR SHELL E,A,B,C WITHOUT BRACKET
Dimensions are in millimeters A
20.63 £0.03 >
- << Shell |Number of A f()o_76 B fé).ES C 4012 F fé)'w G jré].ZS H f[()).S\ L fé).EZ
< size | contacts
= E| 09 [30.43 |16.79 [24.99 |10.47 | 5.9 " | 19.02 |0 80
Al oI5 [38.76 [25.12 [33.32 [10.47 | 5.9 '0'° | 27.25 | 0.80
Bl 25 |52.65 |38.84 |47.04 | 10.43 | 5.7 % | 41.02]0.80
C| 37 [68.94 |55.30 [63.50 | 10.56 | 5.7 ‘9% | 57.45|0.90 8
H
ey R -
g bbbt Iy
s HH HW c
o/ | S B B e |
" ‘ | Ty
| | -
1 T
A
J 404 .
C LAYOUT DIMENSIONS 0
B0.9 mini
. B R R TIRRITEY! .36 shell 25-37
oo = 774 shell 09-15 137 shell 09-15] [
o @ .
w PR V]
f 776 shell 25-31 - %:} o%oooo‘oooooo 7@
| = Z.74 shell 09-15 o OOOOOO?OOOOOO E
3 I N
~ b7 . ! |
yleeecescesease ) ‘
\‘$$$$$$$$$$$$J®> 731
f ) p—
0 ree fefconnectcon e @ ] |
¢3 00 -0 br [N PESSON 12006711714 v B ] T0 |size Scale
| 38 shell 25-37 Ens | P LEGARE 2006711714 [ "M Linear [ ooa | w0 A2 2.1 F
Chr | P LEGARE 2006/11/14 a'\iz' 0.XXX +0.05 ECN LS08-0119
37T heTT 0575 appr| P LEGARE | 2006711714 [Product Tomily Soec el
SCALE:3 'gg SUB  MALE DM HE501 series |5 .o\ gcar 700 [
[~ with right angle contact S — C
— catalog no CUSTOMER fsheet 4 of 9
il | 2 | 3 | 5 | 6 | | 8

PDM:PR&\RL:C

sTaTusRETBaI8elehsedprinted?j0fed 7, 20188, 2015



20,63 4005 5 DIMENSITON FOR SHELL E,A,B,C WITH METAL BRACKET

© Dimensions are in millimeters A

= Shell [Number of | A 1076 f g 05 pe o 05T 6l TR N
size contacts . -0
F | 09 [30.43 |16.79 [24.99 | 10.47 | 5.9 0" | 19.02 |0.80
Alo15 3876 [25.12 [33.32 |10.47 | 5.9 &' | 27.25 | 0.80
B| 25 [52.65 [38.84 [47.04 |10.43 | 5.7 &% | 41.02 |0.80

B ¢ 37  168.94 [55.30 [63.50 | 10.56 | 5.7 ‘9% | 57.45|0.90 8

1.2 +01 j =

10.3

+0.1
+0

14.68 40.2

.3

S
=
—
—
—
=
—
=
—
=
—
—
—

b
| I 1wl i

Copyrighl FCI.

<H
= Pes
— A
— 4405
0
¢ LAYOUT DIMENSIONS
B0.9 mini
oo B PRI ITEN] .38 shell 25-31
s = 2.74 shell 09-15 1.37 shell 09-15 —
) I .
w PR o~
- 2.76 shell 25-37 -
o™ < : o%oooo‘oooooo
- 274 shell 09-15 . G- w -
< O O O O O O O O O O O O E
g I
I
K |
o7 P-0-0-0 & 00O PG OO " 23 12"
W)\\ﬂ?fﬂafﬂ}&}ﬂ?&&&&&&ﬂaj -
kt I 2%
: 1 -
= T
uuuuuuuuuuuuuuuu uuuuuuu surface - tolerance std fprojection
www. fciconnect.com 150 1302 150 406 SO 1101 mm
TDLEM ES UNLESS OTHERWISE SPECIFIED @5 —
Dr [N PESSON 12006/ 11714 |0 "] 0.1 303 |size Scale
| 38 shell 25-37 Eng [P LEGARE 2006/ 11/14 LINEAR [ o.xx +0.1 A2 2.1 3
Chr | P LEGARE 2006/11/14 a'\iz' 0.XXX +0.05 ECN LS08-0119
.37 shell 09-15 Appr| P LEGARE 2006/11/14 §Product Fa_m\\y -fSpec ref
SCALE:3 = SUB MALE DM HES0I series |5 (o gesr 1740 |
[~ with right angle contact S — C
catalog no - CUSTOMER fsheet 5 of 9

| 2 | 3 | 4 | 5 | 6 I I 8

PDM:PR&R:C  sTtaTusRETEa8eehsedprinted’jofed 7, 20188, 2015



Copyrighl FCI.

! | 2 | 3 | | | 6 | 1 | 8
80.63 +0.05 DIMENSION FOR SHELL E,A,B,C WITH PLASTIC BRACKET
Dimensions are in millimeters A
Shell [Number of | g 1078\ 0B e DT G102 Hfén.sw |
size contacts
F ] 09 [30.43 [16.79 [24.99 |10.47 | 5.9 3" | 19.02 |0 80
& ) A oI5 [38.76 |25.12 |33.32 |10.47| 5.9 0" | 27.25 |0 80
m z_ B| 25 [52.65 |38.84 [47.04 |10.43 | 5.7 0% | 41.02 [0.80
H 2 C| 37 |68.94 [55.30 (63.50 | 10.56 | 5.7 52> |57.45|0.90 8
1.2 +01 j pi
3 b -
N 1} s
1 D PR & (=
; ‘ \‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\ ‘ i ‘(r
= [ N EOGEMENAEOELI N L c
; ‘ : ;‘3 | |
T i >
L | J = K
1 | -
I “
A GT
4 40
C LAYOUT DIMENSIONS 0
B0.9 mini
B 776 shell 25-37 L.38 shell 25-37
5 . E 274 shell 09-15 .37 shell 09-15 —
e 276 shell 25-31 <
= e - o%oooo‘oooooo
™~ 2.74 shell 09-15 - %)’ OOOOOOC‘FOOOOOO *d} g
S T
(6000060 ~$9$$$$>/{@_} £0.10 :

@\‘$$$$$$$$$$$$“JW 23.

N1 : L : —
LTI ELERR TR
IRipigipiginiginigininininOiRin o www.fCiconnecf.com 50 1303 150 108 %0 1101 p@a mm

1.38 shell 25-37 EDn’g :Egi(ﬁ)g ;ggzmjlj NGUL;UNEAR uo.xxx iZ\J o A2 ch:‘e F
Chr | P LEGARE 2006/11/14 a'\iz' 0.XXX +0.05 ECN LS08-0119
1.37 shell 09-15 Appr| P LEGARE 2006/11/14 §Product Fa_m\\y -fSpec ref
'ggsuﬁ MALE DM HE501 series |° C01-8637-1740 Rev
[~ with right angle contact S — C
catalog no - CUSTOMER fsheet 6 of 9
] | 2 | 3 | | | 6 | | i

PDM:PR&\RL:C

sTaTusRETBaI8elehsedprinted?j0fed 7, 20188, 2015



I | 2 | 3 | [ | 5 | 6 | 1 | 8

Copyrighl FCI.

0.63 £0.05
- 09 LU0

DIMENSION FOR SHELL D WITHOUT BRACKET (50 CONTACTS)
— AR RRARRARARARANRARAARARAARRAAN ‘ A
A A SR SR LAYOUT DIMENS TONS
(— IIII e e~ —— 7 = 509 s 38
M\@ IﬁﬁI<II<I>H>HI<II<I>II>HI<II<I>H>HI<II<I> @ 5 E N ' R
1D @[] |®] @@ | O] @ @] |©] @] @ 1] |&] == B
I) I) <I <I <I> I) I <I [ I) I <I <I> I) Ij <I <I> ; @ OOOO\)OOOOOOOOOOO‘OOOOOIOIOOOOOOOO d}
— ! /II oooooooocI)oooooooo i
8
6 0] 50_5‘ ¢3-‘i0.IO
66.55 1 B
i
el I
0 ) z C
(1 ==L
bt LGOI R | ‘
A AR AR AR AR AR TR RATRARIRATRRAARHLT ‘

I.T max

+0.25

.0 £0.12

3
I e 0
=3 o — =
oo 2. = o 0 05 -
f=3 — €
AR 3 = -
= = =
M +0.25
oo 52.68 |
_ ~
= o
o~
E
I O

15 37 ¥

{D— R R R R R @
"o o0 0000 0l d »

(\G}G}@&G}G}&}&&&&}&&&G}&&

DO O OO DO
J

T SE—

LA

[S m—

www.fciconnect.com 150 1302 150 406 1SO 1101
TOLERANCES UNLESS OTHERWISE SPECIFIED @EI —
—
Dr | M PESSON 2006/11/14 NGULAR 0.X +0.3 size Scale
Eng | P LEGARE 2006/11/14 LINEAR | o.xx 0.1 A2 2:1 F
I 38 Chr | P LEGARE 2006/11/14 o Ii?' 0.XXX +0.05 ECN LS08-0119
el Appr| P_LEGARE 2006711 /14 JProduct family -] Spec ref
© ° Rev
2.76 @ = SUB  MALE DM HES501 series > COI-8637-1740

[~ with right angle contact o — C

— catalog no - CUSTOMER fsheet 707 9

! I 2 I 3 I ‘ I 5 I 6 I I s

PDM:PR&R:C  sTtaTusRETEa8eehsedprinted’jofed 7, 20188, 2015



| 2 | 3 | [ | 5 | 6 | 1 | 8
063 1005 DIMENSION FOR SHELL D WITH METAL BRACKET (50 CONTACTS)
A
III’IIIIIIIIIIIIIIIIIIIIIIIIIIIIII LAYOUT DIMENSIONS
I‘I7‘7I7‘7I7‘7I7‘7I7‘7I7‘7I7‘7I7‘7I7‘7I7‘7I7‘7I7‘7I7‘7I7‘7I7‘I ‘38
1= %:I !7I7!’I’!’I’!’f!’I’!’I’!’I’!’f!’I"’I"’I"’I’!’I’!’I’!’I’i 5 E 3 0.9 mini 2.16
II‘I‘I‘I‘I‘I‘I‘I‘I‘I‘I‘I‘I‘I‘I‘ _ ~ ~ 4-1—#
- IiJI [dnalaiatgnhUanaUanalanaianatanslanalanatianitanblanalatal - \O 6 6
@ H I S I S S e L LR TR LR LR R @ = ‘ 0 0 00 O0O0oO cP oo o o ofo
i) Jg) (l (l) i) i) (l (l) i) l) (l (l (l) l) (l (l (l) - @7’79%’9_9%0_9’9*9%’9_0%0_9’{%’*’@
\\ | ks O O O O O O O O O O O O O O O O i
— 1
8 55 07 605‘ ¢3-‘:I:0.IO
66.55 "
+0.1 —
6.00 3 B
= F
; I >
c [ I [j L.y «
i - 73 L "@ . | M=
3 ‘H Usliplslslslslzlslslslslslnlnlnl ! Uslplslslslslzlslslslslslnlnlnl ;e ‘ W; -
1 - B s 111 AT e RN 3
=~ LY ) A - ”
— | = L— -
[ ! [ [
- | | | i)
0 H I I
61 1] 12 3 o f UESH
7 <_ 52,68 102
% = 8.6 401
£ _ ~
5 $$$$$€B$$€g$$$$$$$$‘m/
= @ "&&&&&G}&G}I&G}&&@@&&” // *‘\
- &&&&&&&&ee&&&&@&&’"J
5 | — —] |2
I T
% v fefcomnect com ‘:ZLE‘E ES UNLESS OT‘I‘ISE(;II‘IUSEE SP‘::DIF‘I‘EQD‘ @a
“r otrceomr—Teooert e P cnews o e a2] S
‘38 Chr | P LEGARE 2006/11/14 a'Iiz' 0. XXX +0.05 ECN LS08-0119
4__7_ﬂ Appr| P LEGARE 2006/11/14 §Product Fa_mIIy -fSpec ref
'g; SUB MALE DM HESOI series |5 o\ ges7-1740 |
- with right angle contact S — C
cotalog no CUSTOMER Jsheet 8 of 9
! I 2 I 3 I ! I 5 I 6 I I 8

PDM:PR&\RL:C

sTaTusRETBaI8elehsedprinted?j0fed 7, 20188, 2015




16 90 T

)63 s DIMENSIONS FOR SHELL SIZE D WITH PLASTIC BRACKET (50 CONTACTS)
LAYOUT DIMENSIONS A
- .38
Eﬁ 3 0.9 mini 2.6
aif o S I n
; O O\O O O O O O o O 6 6 O O O|O
4@* O O OO O O O 0o 00 OO0 OO0 O *@
O O O O O O O O ‘I) O O O O O O O O
8
55.07 0 5y | F000
+0.76
66.55 -0 B
A
=3
*——7:257 : C
N Ir
«T—I f ! ——F N
< = : I | IF 3 -
[
: H °
= = 5 | 2 | L
+0.12 *O? ?r\? =
B = I 8.6 0.
S 52.68 "% B

|5 37 £3

E
f&?&?ﬂ?ﬁ?ﬁ?&?ﬂ?ﬂ?ﬁ%&ﬂ?ﬂ?&&@&&‘m/ \
@\'G}G}&G}G}G}&G}G}G}&&&G}&&” (i

"&&&&&&&&ee&&&&@&&’j

Copyrighl FCI.

B B IR, S i

a—]

150 406 1SO 1101
TOLERANCES UNLESS OTHERWISE SPECIFIED @5 —
RANCES UNLESS
D [W PESSON 2006/ 11714 f-o ox S0 [sice Scale
|.38 Fng | P LEGARE | 2006/ 11/14 LINEAR [ oxx | 0.1 A2 201 F
Chr | P LEGARE 2006/11/14 o Ii?' 0.XXX +0.05 ECN LS08-0119
276 appr | P LEGARE | 2006/ 11714 |Product fomily L Spec el

awg no

© Rev
- SUB MALE DM HES0I series CO1-8637-1740
[~ with right angle contact — C
catalog no - CUSTOMER fsheet 9 of 9

I 2 I 3 I ‘ I 5 I 6 I I s

PDM:PR&R:C  sTtaTusRETEa8eehsedprinted’jofed 7, 20188, 2015



Mouser Electronics

Authorized Distributor

Click to View Pricing, Inventory, Delivery & Lifecycle Information:

FCI / Amphenol:

DEMO09P500C DEMO09P500M DEMLO9P500M DBM25S743 DCML37P500M DDMV50P500M DAM15P500
DAM15P500C DAM15P500M DAML15P500 DAML15P500M DBM25P500 DBM25P500C DBM25P500M
DBML25P500 DBML25P500M DBMV25P500 DCM37P500 DCM37P500C DCM37P500M DCML37P500
DDM50P500 DDM50P500C DDM50P500M DDML50P500 DDML50P500M DEMO9P500 DAMO15P500M
DEMO09P543 DDMV50P500



https://www.mouser.com/fci
https://www.mouser.com/access/?pn=DEM09P500C
https://www.mouser.com/access/?pn=DEM09P500M
https://www.mouser.com/access/?pn=DEML09P500M
https://www.mouser.com/access/?pn=DBM25S743
https://www.mouser.com/access/?pn=DCML37P500M
https://www.mouser.com/access/?pn=DDMV50P500M
https://www.mouser.com/access/?pn=DAM15P500
https://www.mouser.com/access/?pn=DAM15P500C
https://www.mouser.com/access/?pn=DAM15P500M
https://www.mouser.com/access/?pn=DAML15P500
https://www.mouser.com/access/?pn=DAML15P500M
https://www.mouser.com/access/?pn=DBM25P500
https://www.mouser.com/access/?pn=DBM25P500C
https://www.mouser.com/access/?pn=DBM25P500M
https://www.mouser.com/access/?pn=DBML25P500
https://www.mouser.com/access/?pn=DBML25P500M
https://www.mouser.com/access/?pn=DBMV25P500
https://www.mouser.com/access/?pn=DCM37P500
https://www.mouser.com/access/?pn=DCM37P500C
https://www.mouser.com/access/?pn=DCM37P500M
https://www.mouser.com/access/?pn=DCML37P500
https://www.mouser.com/access/?pn=DDM50P500
https://www.mouser.com/access/?pn=DDM50P500C
https://www.mouser.com/access/?pn=DDM50P500M
https://www.mouser.com/access/?pn=DDML50P500
https://www.mouser.com/access/?pn=DDML50P500M
https://www.mouser.com/access/?pn=DEM09P500
https://www.mouser.com/access/?pn=DAMO15P500M
https://www.mouser.com/access/?pn=DEM09P543
https://www.mouser.com/access/?pn=DDMV50P500

